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(o meaties Hreageh when (e § =), e 2024

q3F . )
w| A

Y . - | 1;55";
5 : 11:00 T 12:30 HIEYH : |§'3'| m L-E:.E:E

TR 0 150 Ty WTHT & U TS : 32

9T FA A § U Ut Hrat 7§ e A it samgEe ug

(1) 39 999 % St 9T 8| Forem & wir - 16 o ot fowg & geferd 18 25 ST 9wt 11 8 7o foser
T GEd 26 9 75 WA I TC 2| |t 75 WA §A AT A 2

(2) Y® I 2 3 & oI B

(3) U BA B b AT o 90 firme w1 T feam srem)

(4) WA & forw Tada Iorafrent & STwft| Teish T AT o AT =R faehed o fofu shurger <reiga
few e &) o & wEl S - faehew o dedem i e fu e semTEER o)
3E1. I 5. 6 T & I fehed . 2 B, 1 3 U IHER I W)
T F. 6 0l JOIo)

(5) e fedl U SerEw % AR Sifehd fohT T IR TR @l fohT SRIT| 3| YR 3ifeha fohT T T
% IW A I 3% g sE D DO®

(6) T H T 20% T UH B 6 4 I - Toehew & @ 1 Tashew @l 81 9 91 foehew dfha
HET a1 Rorees forw get & @ wiws § 3 wd frevew g T féw fean gy

(7) 3 =t feoremen g+’ W@ Féw & fafcs o forelt oft woa & fore wsh @ siferes e &1 w =
Tergiferd 3 9T 30 ST Al R T81 foram S|

(8) U SR 3ifehd fohT T 3T AT gt &l ST Hehd |

(9) faered & 3T 3ifehd 0 & I ot et 3T Fiet T o sfetis 1 & s&mT H U @ ifera
IR TR & fohu, SR |

(10) w9 % sk U8 & 1= 31 ifqm 98 W F= %™ (Rough work) % foTT @reft g 7, 9@ %=
%M (Rough work) |

(11) W 61 3afy qifqq g o HRU AfG Tohet T9 1 I 3! & qaT & I W b T g i
7 H 9T = W T8 T Y b T g 3o )

(12) fereft oa & e /mrereht aftarfera g9 W widerss a1 qiien ohg darers A fomm fomst a1 &)

(13) w9 ® Ffe /mrerdt /gaes weie 4 fae foremer steran stfirraeni gra wgg freronfersert = frerorefererd
oy fofed €9 0 7 9ot gafed foamer™ o e 8 Afaersd ughd § & 99|

(14) e/t /zue ey § e i ufgd @ 99 6t sraf wen uitvg & 5w wom @ siafm
(rerft) IR = % AN B9 T A 10 (eH) feT a &t

(15) U1 Y AT 3= HRUT & T ToAd IRaATerd s I T fifa o foRmgan am swriardt i Seef|

(16) e T1eTm o A1 SIS aon § off weAus foom mn B gt aream & wfey yet % fo uis we <@
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fawm -1

&
01. ‘Foygs weg H fohaH =9W 87 Y=
(1) =% (2) 9«
(3) dr (4) =W
02. ‘THY YA B3 W1 &1 21’ {@ifehd 3T % Had 1 TR T
R URERIERIGE (2) TR
(3) YdehIicteh (4) AR
03. ‘eH 2 31 e’ 39 faug <1 amiiyes wise 9 99™ Ug=Hl|
(2 vt AT
(1) dcqey (2) <A
3) wEshfz 4) %
04. Tr=fctiaa ame o sH-wn form forgd sR-am 31 g3m 87
Shiar, dfadr, k=T, SR g0 A W g | 7|
(1) SFeqfermm ) dfEm
(3) quiferm (4) s e
05. fr=fafga § 9 %9 afedar=es 931 181 27
(1) faey (2) Tenrer
(3) Ufga (4) @
TF HhE g T
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06. = & TS ufdq § ¥ T@HR w1 Ifea v gEET:
9 89 qH Tehie aRI| @ I8 &d A |

(1) ¥9sh HABR (2) IV HABT
(3) AfGIEfRd AABR (4) T ITABR

07. = fau v wfy-fa=se § Toq Wi = yg=niET:
(1) @Fd - g + AT (2) SlE - S + "
(3) TRHE - W + [ (4) @ufd - @q + Afd

e

N2

08. ‘9% 3a1 4@ &I g1’ I H I I THR TEAIHT;
(1) =i (2) Hehardeh
(3) Tremeen 4) T

09. = feu U g ° A FH JHR G

‘g uETEl % 39 UR S W@ Bl
(1) 31qof adum e (2) ad9H FA
(3) Yde (4) wfosy s

10. = few U g § wal yg=niu:

TH o 14T 3
(1) = (2) AT
(3) (4) <mar g

T HE T T
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11. = 8§ 9 #gid aredifs hi = sH-5 37
(1) #HEHRd (2) TMEH
(3) @rEt (4) TR

12. 9Wa i gfegy gg1 #0187 3fd iy gt

(1) S (2) ®=UA
3) e (4) 9N
91 13 9 15 @ To1u g

frfaRad o Ifi=se 1 SIHYEs Jeh U@ T Wi % IX 1 3rad AT HHTh

fafau;
Tsf <l S8 & otfe gell, 99 € 98 W urEd Safed W fUar s < foret Tergam
fagnefl qa g9 SUER &9 # We W § TS| Il & of fh gW Qi WY & §ed
T TS W |1 gy didl, W @ W, W AHSl b HIg W AeH gHdl T W
TA-%e § @1y | T whe oft fohg 38 B¢ gSia wHT & %M, I & fm, @
T T AT 3T IS bl ST heS TT bl B4 b hRUT hefg TehliaTell dhe TS
1 T AT 1 9 foerar o1l 98 B W oS SR Sfd h1 piaan off | g7 ged
34 g wreft o forn o, foees fomm 7 dl <1 wshd 9 TR T W W1 Thd 9

13, Tt 3 91y o didt ofi ?

(1) (2) ==
(3) &4 (4) BT
14. TSt fopm T i oft?
(1) heog T (2) @He W
(3) et T (4) HA T
T HE T T
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15. Torues form g0 &l a8 S gehd 97

(1) Traeht Jaen (2) T EE
(3) fafeat (4) TS
9 16 ¥ 18 o ToTT =@ —

frfcTiad shferd shl Gfdaal sl &I & 9@ I8 7T Y9I o Scak ol 3rad 9T
Wfﬂ'ﬁ@'{
T T TEE HEAT 7, Sed g B 8,
3Gh! HAd SHATE hil, T M hl o1d |
FHA-HA AlCAl F&dl 8, B Id qoH Fadl a,
St ogar 9t B, w1 Hid e R)
T FATG T 2, BHeR! 98 WHIA! 7,
T UA AW g1 7, & Givehal TS 3|
Sffem g9d @ 8, g@ o, g@ Wi w8 2
3 vdd HeEd &, T HEH H g9 9Ed ¢,
Ul FW IS 7, T&1 ot off geh R
%1 g Seht fa 7, acr @ et fia 2,
37d § 39kl Sfid 8, TAT +ft 3R Hiad 2|

16. EUI a8 FIT hadl 27

(1) Sfed Idd & (2) HE-3@ HI H&Hl
(3) T A T (4) T gvhd & TS

17. E910 =1 99T 87

(1) TH T8 &b M0 (2) & HEg S &l
(3) T YA W TG (4) T | N w
T HE T T
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18. %l g4 o HeW <d 87
(1) Shed % &€ oew § g9y 2| (2) ® Ted T4 1 HW A B
(3) e gad & R (4) B Ted FW 334l Had &l

19. ‘wfqarl’ weg o1 A fasganefi veg gg=niUw
(1) FTeh (2) &
(3) AETH (4) dHfcush

20. = QU U STegl H © YgY II6¢ I UL
(1) = (2) &t
(3) HramToT (4) HENIS

21.  ‘guR fyarsh 9 e ufas i o6 9 ot ox anfug 981 @)’ 9 fow ws

ATARTNER ITec T TIANT 19 H Ug=TH-T:
(1) o sifer (2) s wfcm
(3) T gfas (4) ol gfesm
22. ‘T wse 1 GHME Y AT I G YA
(1) f&= 2 «
3) fe=m (4) fomm
T HE T T
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23.  sige # fou MU wed @ 94 ATl gEra w1 3fed sty g

3 g z 3 I a1 ST T
(1) AT 3T (2) THAH BT
(3) B I I (4) TE-YY F &

24. A fopE w1 © weld weg @ A 9l gEEn:

(1) s (2)
3) == (4) gt
25. = wfeat # @ sfifom =il 8 @ 9 wfg i & 9w =
(1) 2) Taam
(3) el (4) wEh
TF HE g AN
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26.

27.

28.

29.

SECTION - II

MATHEMATICS
1+P 1—P] _
e x| =
2+ __p2
(1) o (2) pa+l (3) 1-7 (4) 157

Surface area of a sphere is 616 sq.cm. Which of the following is an incorrect
alternative related to the sphere with double the radius of that sphere?

(1) Surface area will be 2464 sq.cm.
(2) Surface area will be 1232 sq.cm.
(3) Surface area will increase by 1848 sq.cm. than first sphere.

(4) Surface area will be four times the surface area of first sphere.

Anjurani weighed an object and noted it’s weight in four different ways as

given below. Which two alternatives from the given, denote the same weight?
(1) 12 kg. 175 deca gm. (2) 13 kg. 75 gm.
(3) 121 hecto gm. 75 deca gm. (4) 135 hecto gm. 250 gm.

Side of the adjoining square MNOP is
18 cm. Points ‘X’ and ‘Y’ are the midpoints
of the sides MP and NO respectively. Find
the area of the shaded region.

(1) 324 sq.cm. (2) 162 sq.cm.

(3) 81 sq.cm. (4) 243 sq.cm.

SPACE FOR ROUGH WORK
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2

27.

28.

29.

&

fawm - 11

157 [157] o

P2+1 1 1 1—P?
(1) P2 (2) pﬂ (3) 1—? 4) P2

fopelt Tt =T Bt 616 o Tl 2| 36k oM BT, o Tt H 8% 5 Heiel
T TTetd v T § | - e

(1) 9S®a 2464 Tt awfi. grft|

(2) ISHA 1232 @ @i, g

(3) Y& ged % qoT § YSH 1848 = adfi. ¥ <ifes g

(4) YA Jed o IEHAl o gadl H ST AH g

TGOt 5 T 9% T W9 ek 38 IR TR | = o U i | o R 3|
W H ¥ SH-8 ¢ W 99 37

(1) 12 femm. 175 <1 W00, (2) 13 T, 75 .
(3) 121 &1 UT. 75 ST UL (4) 135 &1 U1, 250 7.
A a1 3AhRd! MNOP T 4T

18 THfl. 7; fog X’ 3R ‘Y
g U YT MP 3R 41 NO
1 weAfag 7, a1 @ifhd WRT &
&l fohaa ot A, g e

(1) 324 2) 162
(3) 81 4) 243
T HE T T
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30.

31.

32.

33.

34.

[(16xy+4y2+16x2> L@yt |,
(16x>— 4y?) N
(1) 1 @ 0
(3) 2y + 4x (4 4x -2y

A square shaped compound of a temple has side 40m. On each side of
the compound, triangular gardens of side equal to that of the side of the
compound are there. What will be the total cost of 5 rounds of wire fencing
for protection from their outer edges only, for all the gardens, at the rate of

Rs. 80 per m of wire?
(1) X 256000 (2) < 160000 (3) < 512000 (4) < 128000

Rs. 9700 are invested in the bank with simple interest at the rate of 5 p.c.p.a.
To get the same amount that will be received in 4 years in 2% years only,

by how much should the rate of interest needs to be increased?

(1) 8% 2) 5% (3) 3% 4 2.5%

If (x—y)> =49 and (x+y)? = 169 then find (4xy) = ?
(1) 30 (2) 60 (3) 90 4) 120

All the vertices of a triangle are on the circumference of the circle at equal
distances from each other and at a distance of 14 cm. from the centre of the
circle. What will be the length of the median of that triangle?

(1) 7 cm. (2) 14 cm. 3) 21 cm. (4) 28 cm.

SPACE FOR ROUGH WORK
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30. [(16xy+4y2+16x2) @A ] e
(l6x2—4y?) | 1Gx=20) " ’
1 1 2) 0
3) 2y+4x 4) 4x-2
31. forefl wifcx o aiiendt 9fER 1 =TT 40 M. 31 39 Yo ST I TR 39 ST Ia1
B FHE eaTel BYSTeR s 71 39 @il % el Wi 8 SHare T& % STed
SS9 © HICATEl AR < 919 B M 1 T YdHIX 80 €. & & H Hod TohaHdT @
grm?
1) 2,56,000 2) 1,60,000 3) 5,12,000 4) 1,28,000
32, OIYURO &6 % U § S YIAA. & @ H 9700 €. Fow e W ¥ & g
4 9 uvaTd A wehn amad uTed gRf| A g ey 2% a9 # g
foq forae wfomrd &< & @ S@icad T gt ?
(1) 8% 2) 5% 3) 3% 4 2.5%
33, (x—y)? =49 3 (x+)? =169 B I (4xy) = a1 ?
(1) 30 2) 60 (3) 90 @) 120
34. TS DS % Miferg, god shi Gl W R g9 g W R, Ik Jed hg foig €
At 1 AR 14 T, 71 3E 39 B f meyenr foha o, gnfie
1y 7 Q) 14 3) 21 4) 28
T HE T T
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35S.

36.

37.

38.

39.

40.

Which of the two alternative expressions from the given are perfect squares ?
(D (2 -2+x? (2) (4m? — 16n? - 16)
(3) (25p% + 36¢% — 30pq) (4) (64ab + 64a2 + 16b2)

What will be the eighth odd number after the even number (3x — 5) ?
(1) (3x - 22) 2) (3x — 13) 3) (3x + 10) 4) (3x + 3)

While selling an article, if Raghav increased its selling price by Rs. 384 he
will have 5% profit instead of 3% loss. What should be the original price of
the article?

(1) T 19200 2) T 12800 (3) T 7680 4) T 4800

Two triangles are formed by diagonal BD A
of kite ABCD as shown in the figure.
Which test from the following is not

applicable for proving these two triangles B E N D
congruent?

(1) S-A-S (2) S-S-S

3) A-S-A (4) Hypotenuse-side C

Rafig has Rs. 28,500 with him in the form of some I 2000 notes and some
< 500 notes only. Which of the following could be the number of ¥ 500 notes?

1) 57 2) 25 3) 23 @) 11
If J1-45=% then 'k = ?
(1) 92 () V16 (3) 16 4 9

SPACE FOR ROUGH WORK

0311-Hindi Set-A 12 of 32 Contd...



35. feu o fom wafa @ @ -7 < i i wh g ot 20
(1) (x2 -2+ x32) (2) (4m? — 16n% — 16)
(3) (25p* + 369 — 30pq) (4) (64ab + 64a + 16b?)
36. (3x—5)3H U9 TEAT % ¢ AT Sl fawm T w-dt gt ?
(1) (3x-22) 2) (3x-13) (3) (3x+ 10) 4) (3x+3)
37. UG 4 U o dud @09 famd ged § 384 ®. W @@l g, a1 3% g 8N %
T 5% AT AT oA1| 39 YR W I&g <l fohua forat gt ?
(1) 19200 (2) 12800 (3) 7680 (4) 4800
38. HorH 3AThdl L] ABCD 39 UcimTehd! A
%1 0 BD % %Rl g1 s #
favrshia g9 @ SF-@ ward | 5 B 5
gatmem & 8 W@ R? E
(1) g--9 2 9-9-9
(3) HI-Y-Hl (4) Hoi-yaT C
39. SheTA o I 28,500 T 7| 3ok UTH S &l AR N $S =8l €9 o g ThR
% {7, d TrEEl B9 % A1 H qe e 0 9 Hia-w g aedt 27
(1) 57 (2) 25 (3) 23 4) 11
W 1= =13 @ K = feen
(1 9 2) V16 3) 16 4 9
TF HhE g T
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41.

42.

43.

TR

45.

Area of the square hall with height 4 m. is 49 sq.m. What will be the total
cost (in rupees) of colouring all the walls of that hall at the rate of Rs. 300

per sq.m.?

(1) 11200 (2) 74000 (3) 33600 (4) 42000

In a transaction, if the selling price is four times the loss, then what is the
percentage loss to the seller?

(1) 20 Q) 25 3) 125 @ 11

Iy
The conical tent with height 21 m. has base circumference 176 m. How much

air (in cubic m.) can be contained in that tent ?

(1) 17248 (2) 2464 (3) 7840 (4) 15680

How many shares of Rs. 500 each, did Pari purchased, if she spends Rs. 46350

with 3% commission?

(1) 95 2) 90 3) 8l 4) 87

A side of a square is congruent to the 30 cm. diagonal of second square. Select
an incorrect alternative from the given, for the relation between the areas of
two squares.

(1) Areas of both the squares are not equal.
(2) Area of the second square is half that of the first square.

(3) Area of the first square is more by 900 sq.m. than the other square.
(4) Area of the second square is less by 450 sq.m. than the area of the first
square.

SPACE FOR ROUGH WORK

0311-Hindi Set-A 14 of 32 Contd...



41.

42.

43.

44.

45.

4 WX 915 ATt Toredt aTiehdt AL SRl &FThaT 49 a1 HieK 7, A1 36 Al o @t feami &
TT A Rl T UfdHIX 300 ¥, & < Y TehaqT @ gIm?

(1) 11200 (2) 74000 (3) 33600 4) 42000

B4 % IR TN fasha fohaa W gHaTel saagr § @ fashar &1 gHaret g+ foha
gfcerd gt ?
(1 20 (2) 25 3) 12.5 @ 11

I IHRAT de i 3915 21 HI. & T IBHE h1 9l 176 #. 7, a1 39 @refl
T § ferat Tt gaT THREA ?
(1) 17248 (2) 2464 (3) 7840 4) 15680

Tdl IE 500 F. & X ¥ Wied W IHTe bl 3% HHIA o @1 46350 &, 1 T
AT 2, df 394 fordd g wid fopu 37

(1) 95 2) 90 (3) 81 4) 87

T il AR T YT T8 g I AHAt * 30 FefY. HoaTer wUf F Fatrew 2,
39 QI Shdl % &A% FaHl Tod wAA e H H HA-1 87

(1) Hl 1 1 &T%a F9H T8 &

(2) TE T H &ARA U8 A h &ABA H AT B

(3) UEA o 1 &FABA GE I % &FA%A § 900 I\ HHI. H IAH B

(4) TR o H &ABA TEA A H 450 ot . F HA B

T HE T T
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47.

48.

49.

In the adjoining circle with centre C, P

m/PRS = 55° ; then m/PSQ = ? Q

(1) 55°

(2) 40°

(3) 45° R S
(4) 35°

An obtuse angle is formed between the hour hand and minute hand of a clock.
Which two alternatives from the following will correctly represent the possible time?

(1) 1:20 hrs. (2) 11:40 hrs.
(3) 4:05 hrs. (4) 8:55 hrs.

Ratio of the lengths of the diagonals of a 20 cm. sided rhombus is 3:4. What
will be the area in sq.cm. of that rhombus ?

(1) 768 (2) 384
(3) 192 4) 96

After reading %th part and 68 pages of a book, 92 pages are still remaining.
What is the total number of pages of that book?
(1) 360 (2) 280
(3) 153 4) 117

SPACE FOR ROUGH WORK
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46. EH AT h hglerg ‘C’BHR Ied P
% mZPRS = 55° &,
@ m£PSQ = fehamn?
(1) 55°
Q) 40° R\—/ S
(3) 45°
(4) 35°

47. uSl o U Hl g3 9 fHe I g5 398 AUH HH IR 7, a1 o F9 I a1
T 99 HE g7

(1) 1:20 s (2) 11:40 &=t
(3) 4:05 &t (4) 8:55 &t

48. 20 T, YN AT HHSTE =GHS o KN o HIY H IAC 3:4 7, A I8 FAGHS I
gha foha art aeft. g e

(1) 768 (2) 384
(3) 192 4) 96

49. T TobaTel BT 3 W T 68 I UG W 92 U AN @ WK B, @ W geid A Pt

fopae U 27
(1) 360 (2) 280
(3) 153 4) 117

TF HhE g T
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Q. 50 and 51 Directions :

In a school, there are 50 students on roll in each of Std. V to Std. VIIL
Below given joint bar diagram is representing attendance of the students
Standardwise. Observe the graph and answer the questions.

EEEEEEEEREE]

Scale : on Y - axis
1 cm. =2 boys / girls

i
Y-axis |

S

Boys Girls

AN 0

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

[\
5

oo Do

—
A

——

an
b
T

Presentee (attendance)

—

d\ o Sllilan)

(NSNS

X1S

S

NA
N
1

o

Fifth = | Sixth | Seventh |Eighth
| Standard

Y

SPACE FOR ROUGH WORK
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9 50 e 51 % fore geAr -
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50. By what percentage the present girl’s attendance is more than the present boy’s

attendance?
(1) 10 2) 2
(3) 20 4) 2.5

51. By considering attendance of both boy’s and girl’s, which standard has the
least attendance?

(1) Eighth (2) Seventh
(3) Fifth (4) Sixth

52. If 25% of 780 = M% of 1950 then ‘M’ = ?
(1) 10 2) 12
3) 8 4) 14

53. If L.C.M. of two consecutive even numbers 1s 312, then what will be the sum
of these two numbers ?
(1) 48 (2) 46
3) 52 4) 50

54.  All points shown on the given number-line are at equal distances.
I(UR) — /(QT) =?

P Q R S T U
< t t _i; t t t t t t t t t t li t t >
8
(1) URS) (2) UTU)
(3) UQR) 4) 1(SQ)

SPACE FOR ROUGH WORK
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50. h&TT TSl o IUTEAd TTSehi o STULTT IUTEAd AShIAT fohd Tiaerd 31feres &7
(1) 10 2) 2
(3) 20 4) 2.5
51. TS qUT Agehidl shi hefl e Sufeufd ee W aed oa sufeyfa Sia-Hf wen 1 37
(1) omasi (2) wrqet
(3) ui=d (4) B3
52. 780 T 25% = 1950 T M% BN; al ‘M’ = fepaan?
(1) 10 2) 12
3) 8 4) 14
53. T SHAN: g9 Gl @ AL, 312 B, a1 3§ HEA1eT 1 ANhA fohaT ?
(1) 48 (2) 46
3) 32 4) 50
54. fou o s | |yt fog wwEHE §9H ST W g, a1 ((UR) — (QT) = feha?
S S S S S =
D e >
8
(1) IRS) (2) UTU)
(3) IQR) 4 1(SQ)
TF HhE g T
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5S.

Five years ago, mother’s age was twice her daughter’s age. If the ratio of

their present ages is 11:6, then what will be the difference in their ages

(in years) five years hence.

(1) 20 (2) 25
3) 30 4) 35
56. Ifa+ b =13 and ab = 36 then a®> + b? = ?
(1) 169 (2) 81
3) 97 4) 16
57.  Which of the two options given below are incorrect statements?
(1) All integers are not real numbers.
(2) Some rational numbers are integers.
(3) All rational numbers are integers.
(4) Some integers are not whole numbers.
58. Following table shows the subjectwise marks scored by a student in a summative
test. Find the average marks.
Subjects | Marathi Hindi Maths Science | Social Science
Marks 32 36 48 44 40
(1) 40 (2) 38
(3) 42 4) 36
SPACE FOR ROUGH WORK
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5S.

56.

57.

S8.

qid a¥ qd A kI 3TY TSI ok TG F UM BN QAT Ik AT h1 Y 11:6 %
U H B, d1 9id A1 91¢ gHi o A H fohad a¥ &1 TR gAM 7

1) 20 @) 25

3) 30 @) 35

a+b=13 3 ab =36 B, d; a2+ b? = fehaar?
(1) 169 (2) 81
(3) 97 4) 16

frefeifga o § g1 Terd e g

(1) @t qurier &, a8 Fivaa e 98 gl
(2) F© U wE, I8 IiE HE B 2
(3) =ft ufw we, I8 qurie T Bl 2|
(4) F© I F&AT, U GEAT 6l Bl

T BT ! Tehfold eIuTdd # fIsamgar urea o7 = fou o arfeeht @ fou e 2|
ITed 37 T HeIHH F1d fohfor |

IELE

T3t

fedt

TTford

ERIC]

HTHTIAMEH

ao

32

36

48

44

40

(1) 40
(3) 42

2) 38
4) 36
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59. In the adjoining fi , P S
line AB || line CD and < g >

mZRGC = 50°, then find
mZSFA — m/ZPEA = ?

O

(1) 50°

(2) 80° Jre G H Dy

(3) 100° 07 \

4) 130° R Q
60. 4b —2a+5-3b -9 +5a—4+3b—2a=2

(1) 4b + 9a — 4 2) 2a + 4b — 8

(3) a-—4b -8 4) a+ 4b — 8

61. What will be the difference in rupees in the simple interest and the compound
interest earned on Rs. 5000 in 2 years at the rate 5 p.c.p.a.?
(1) 125 (2) 25 (3) 37.5 4) 50

62. Average weight of Siya and Nisha is 29 kg. Average weight of Fiza and Siya
is 26 kg. If the total weight of Nisha and Fiza is 50 kg., what will be the
maximum weight (in kg.) amongst the three girls?

(1) 25 (2) 28 3) 30 4) 34

63. A work is completed by some workers in a few days. If the number of

workers is made %rd times the original number of workers, then how
many times will be the days required to be increased than the original to
complete the same work?

1 3 @ 1% 3 * @ +

SPACE FOR ROUGH WORK
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59.

60.

61.

62.

63.

e TR0 H W@ AB || CD 3R /AR{ }ZB
m/RGC = 50° & < P
mZSFA — m/PEA = fan?
(1) 50° 0
(2) 80°

C G H Dy

(3) 100° < ;
(4) 130° z{ }s\
4b-2a+5-3b—9+5a—4+3b—2a=Tfra1?

(1) 4b+9a-4 (2) 2a+4b-8
(3) a-4b-38 (4) a+4b-38

5 I.RIA. % @ H 5000 T HT 2 IY 1 AER AN qAT Fhagel S |
fopde ®93 1 3T BT ?
(1) 12.5 2) 25 (3) 37.5 4) 50

T R fem o1 sitea a9 29 TR, 21 Ha@ AR SR 1 oftga as 26 T
7, I T9e iR #ea o1 P a9+ 50 fohun. &1, @t foei & & wed At aoM fohaq
foram. g e

1y 25 2) 28 3) 30 4) 34

T HE H D AR $O G H Q0 i 8| 96w F foaw afg asgl h wen
qsmaﬁ{i@m@%ﬁwﬁﬁﬁ,aﬁwﬁmﬁﬁ:ﬁaﬁé@m gt 4 ot stferen
G Hehdl @

1 3 @ 1% 3 & @ &

T HE T T
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64. Length of the longest chord of a circle is 7 m. What will be the length of
the parallel chord to it, at a distance of 2.1 m.?

(1) 2.8 m. 2) 5.6 m.
3) 42 m. @) 35m
65. 1r163 = /409 : then k = ?
1 1 2 6 3) 12 @ 17

66.  In the adjoining figure, CJEFGH is a rhombus
with diagonal 28 cm. and vertices are on the
circle with centre ‘O’. Find the area of the
shaded region. O
(1) 56 sq.cm. (2) 112 sq.cm.
(3) 105 sq.cm. (4) 210 sq.cm.

67. Which of the following two alternatives are perfect cube numbers?
(1) 0.0270 (2) (-0.000625)
(3) (-13.310) (4) 0.0729

68. By how much is the greatest of the following numbers is greater than the

smallest of the given numbers. %, %,%,g,%
5 1

M 2) 39
2 |

3 15 @ 32

SPACE FOR ROUGH WORK
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64. TH Icd o HaH TSI a1 i @ers 7 WL g, q I Jod H 2.1 W, AR F gl
TR Sfiam bl AT feraq Hiex grfi ?

(1 2.8 (2) 5.6
(3) 4.2 4) 3.5

65. & 16° = /4% grft, a1 k = foraan?

(1 1 2) 6 (3) 12 4) 17
66. "o 3Mhdl W [EFGH 38 9WeTg . .

Iyt &1 Hol 28 T Bl dAT 35k

ft wffeg ‘0" g A Fed W B

g H UM fRU T WA wT &ERd 9

fha =t ot e

(1) 56 2) 112 0 -

3) 105 4) 210

67. fCU U = Wl § § - q =AU qUl 9 S 8 7

(1) 0.0270 ) (-0.000625)
(3) (-13.310) 4) 0.0729
68. 517 0 sk 3 w4 vl o v, 7w e 9 derd feed ad 37
M @ 35
3 5 @ 3
T HE T T
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69. ‘Diagonals of the are perpendicular bisectors of each other.’
Choose the correct alternative from given options to complete the above statement.

(A) Rectangle

(B) Square

(C) Rhombus

(D) Parallelogram

(E) Kite

(1) Only A and B (2) Only B and C
(3) Only B, C and E (4) Only A, B and E

70.  Observe the two planes X and Y shown in the
diagram and select ‘two correct’ statements from
given.

(1) Points F, B and C are belonging to
different planes.

(2) A line is formed where two planes intersect.
(3) Point A, G and E are non-collinear points

lying in the same plane. Y \B
(4) Two planes are parallel to each other.

71.  Spandan purchased two articles each for Rs. 3750 when 8% discount was
declared. How many rupees should he pay to the seller for this purchase?
(1) 7200 (2) 3450
(3) 6900 (4) 8100

SPACE FOR ROUGH WORK
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69. ‘... % gHT U TR Ui 7 famfia #d 317 I8 91 Sl qul R % T
= 7 | = i g
(A) HHRIT TG
(B) =i
(C) HHIE FGY
(D) FHIdR =gyt
(E) wamehedt
(1) aa ‘A’ 3R ‘B’ (2) waa ‘B 3R C’
(3) waa B, ‘C’ 3R E’ (4) waa ‘A’, ‘B’ s ‘E’

<4

70. €T T X’ HR Y’ M YAl 1 e

b fou U Sfed wElE H @ g @R geEl
(1) fg P, B> 3 ‘¢ I Irem-stem
i % fog 2|
2) @ & Td@ TH gE HI Aldesed Hh
W @R E R
3) fog ‘A, ‘G’ R E W s & W
w1 e g 3l v \B

(4) T A TIA TH g H TER FAR gl

71, 37Te Ufdwrd 1 ge U B o hRUT A T Tl 3750 €GF Hind HI g ey @i,
ar e = gy fashar st fehad &9 S wEA ?

(1) 7200 (2) 3450
(3) 6900 (4) 8100
T HE T T

0311-Hindi Set-A 29 of 32 P.T.O.



72. In the adjoining figure of AEFG, E
point H is the mid-point of the seg FG.
If mZEFH = 45° and
I(EF) = I(EG) = 1042 cm.,
then /(EH) = ? cm. .
(1) 1042 2) 10 A% ] G
3) 20 (4) 202

73. [(m +9) (m - 5] - [(m -8 (m + 4)] =7?

(1) (8m — 13) (2) (m -5)
(3) (m — 4 (4 (m + 77)
74. Height of the trapezium PQRS P , S
shown in the adjoining figure
is 8 cm. seg ST = seg PS and /\o@' 8 cm. |
[(PQ) = I(SR) = 17 cm. A
Then find the perimeter of
[JPQRS in cm. Q T R
(1) 80 (2) 96 (3) 88 4 72

75.  What is the compound interest (in rupees) for Rs. 10000 for two years six
months, at the rate of 10 p.c.p.a.?

(1) 2650 (2) 3310 (3) 2500 (4) 2705

SPACE FOR ROUGH WORK
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72. e HTHdl AEFG # fog ‘H’ I8 @1 FG 1 E
weFfeg 2|
S m/EFH = 45° 3R I(EF) = (EG) = 1042
orft. g A J(EH) = fehamT?
(1) 102 (2) 10 p L4 G
3) 20 4) 202

73.  [(m+9)(m —5)] - [(m — 8) (m + 4)] = T ?
(1) (Bm —13) (2) (m -5)
(3) (m —4)? 4 (m +77)

74. feu U wHEE SGYS PQRS P : S
g § Tt 3|
W@ ST =@ PS 3R [(PQ) = LB g ot |
I(SR) = 17 &fi. =, <
ar CJPQRS =1 uftfufa
feRat gt ?

(1) 80 2) 96 (3) 88 4) 72

75. 10 399, I G H 10000 FFF T 2 I 6 Hia- 1 FAshggdl AT fehd- €9 FITT?
(1) 2650 2) 3310 (3) 2500 4) 2705

TF HhE g T
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